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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 30 gSaA  

 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 30 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

uksV uksV uksV uksV %%%%    (i)    lHkh lHkh lHkh lHkh iz'uksa ds mÙkj nhft,A    

        Attempt all questions.    

    (ii) izR;sd iz'u ds vad muds lkeus n'kkZ;s x, gSaA 

        Marks of each question are indicated against them. 

    (iii) iz'uksa ds mÙkj muds vadkuqlkj nhft,A 

        Answer the questions according to their marks. 
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[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

[ nh?kZ mÙkjh;nh?kZ mÙkjh;nh?kZ mÙkjh;nh?kZ mÙkjh;    iz'uiz'uiz'uiz'u ] 

[ Long Answer Type Questions ] 

  1. LVkby dh fdUgha ik¡pik¡pik¡pik¡p dSVsxjht dh o.kZu djsaA 5 

 Explain any five categories of style. 

vFkokvFkokvFkokvFkok    

OR 

 fjys'kuy MsVkcsl ekWMy dk o.kZu djsaA 

 Explain Relational Database Model. 

  2. eSØkst ij uksV fyf[k,A 5 

 Write a note on Macros. 

vFkokvFkokvFkokvFkok    

OR 

 fdUgha ik¡pik¡pik¡pik¡p best fQYVj dk o.kZu djsaA 

 Explain any five image filters. 
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  3. MsVkcsl ds fdUgha ik¡pik¡pik¡pik¡p Qk;nksa dk o.kZu djsaA 5 

 Explain any five advantages of Database. 

vFkokvFkokvFkokvFkok    

OR 

 nwljh 'khV~l ds lkFk jsQjsal fØ,V djus dh izfØ;k dk mnkgj.k lfgr o.kZu djsaA 

 By taking example, explain the procedure for creating reference to other sheets. 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

[ y?kq mÙkjh; y?kq mÙkjh; y?kq mÙkjh; y?kq mÙkjh; iz'uiz'uiz'uiz'u ] 

[ Short Answer Type Questions ] 

  4. fuEu dh ifjHkk"kk fy[ksa % 3 

 Define the following : 

 (a) ,afVVh 

  Entity 

 (b) Vscy 

  Table 
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 (c) ,sVªhC;wV 

  Attribute 

vFkokvFkokvFkokvFkok    

OR 

 LVkby dks viMsV djus dh izfØ;k fy[ksaA 

 Write the procedure to update a style. 

  5. VsEiysV ij ,d uksV fyf[k,A 3 

 Write a note on Templates. 

vFkokvFkokvFkokvFkok    

OR 

 MsVkcsl esa fdUgha nksnksnksnks vkWCtsDV~l dk o.kZu djsaA 

 Explain any two objects in Database. 

  6. LizsM'khV esa What-if flusfj;ks dk o.kZu mnkgj.k lfgr djsaA 3 

 By taking example, explain What-if scenario in Spreadsheet. 
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  7. fyczs vkWfQl jkbVj esa best Mkyus dh izfØ;k fyf[k,A 3 

 Write the procedure to insert an image in Libre Office Writer. 

  8. MsVk ekWMy dk la{ksi esa o.kZu djsaA 3 

 Briefly explain Data Model. 

  9. fdUgha rhurhurhurhu odZIysl ls¶Vh gSt+M~Zl dk o.kZu djsaA 3 

 Explain any three workplace Safety Hazards. 

[k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

[ vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; iz'uiz'uiz'uiz'u ] 

[ Very Short Answer Type Questions ] 

10. izkbejh ^dh* dh ifjHkk"kk fyf[k,A 2 

 Define Primary 'Key'. 

vFkokvFkokvFkokvFkok    

OR 

 QkWjsu ^dh* dh ifjHkk"kk fyf[k,A 

 Define Foreign 'Key'. 
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11. MsVkcsl dh ifjHkk"kk fyf[k,A 2 

 Define Database. 

12. fyczs vkWfQl jkbVj esa LVkby D;k gS \ 2 

 What is style in Libre Office Writer ? 

13. best Vwyckj esa Øksi Vwy dk iz;ksx fyf[k,A 2 

 Write the use of Crop tool in Image Toolbar. 

14. nksnksnksnks rjg ds gkbijfyad ds uke fyf[k,A 2 

 Write the two types of hyperlink. 

vFkokvFkokvFkokvFkok    

OR 

 LizsM'khV esa dalksfyMsV QaD'ku dk iz;ksx fyf[k,A 

 Write the use of consolidate function in spreadsheet. 

15. Qk;j ,Dl~fVaX;w'kj dks ifjHkkf"kr dhft,A 2 

 Define Fire Extinguisher. 
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[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION –D 

 [ oLrqfu"B oLrqfu"B oLrqfu"B oLrqfu"B iz'uiz'uiz'uiz'u ] 

[ Objective Type Questions ] 

16. ,aVjizsU;ksj ekdsZV esa tkWCl fØ,V dj ldrs gSa % 1 

 (a) lR; (b) vlR; 

 Entrepreneurs can create jobs in the market : 

 (a) True (b) False 

17. dalksfyMsV esa fMQkWYV QaD'ku ---------------- gSA 1 

 (a) ,ojst  

 (b) le 

 (c) eSDl  

 (d) dkmaV 

 The default function while using consolidate is ……………. . 

 (a) Average  

 (b) Sum 

 (c) Max  

 (d) Count 
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18. ……………. is an imperative sentence. 1 

 (a) Switch-off the fan  

 (b) Ram is playing in the park 

 (c) Where is my book  

 (d) Oh no ! I missed my bus 

19. MySheet uke dh 'khV ds lsy G5 dks ---------------- ls jsQj djrs gSaA 1 

 (a) $MySheet.'G5'  

 (b) $MySheet_'G5' 

 (c) $'MySheet'.G5  

 (d) $'MySheet'_G5 

 ……………. refers to cell G5 of sheet named MySheet. 

 (a) $MySheet.'G5'  

 (b) $MySheet_'G5' 

 (c) $'MySheet'.G5  

 (d) $'MySheet'_G5 
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20. ,d LVªkWUx ikloMZ esa -------------- gksus pkfg,A  1 

 (a) dsoy ysVlZ  

 (b) uEclZ vkSj Lis'ky dSjsDVj 

 (c) fdlh ilZu dk uke  

 (d) ysVlZ] uEclZ vkSj Lis'ky dSjsDVj 

 A strong password should consist of …………….. . 

 (a) Only Letters  

 (b) Numbers and Special Characters 

 (c) Name of a person  

 (d) Letters, Numbers and Special Characters 

21. esU;w ckj esa ------------- vkWI'ku eSØks fjdkWfMZax dks buscYM djrk gSA 1 

 (a) 'khV  

 (b) MsVk 

 (c) VwYl  

 (d) foaMks 
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 Macro recordings can be enabled from …………… option in menu bar. 

 (a) Sheet  

 (b) Data 

 (c) Tools  

 (d) Window 

22. --------------- vkmViqV fMokbl dk mnkgj.k gSA 1 

 …………….. is an example of output device. 

23. What-if iz'uksa ds fy, ------------- Iykfuax Vwy gSA 1 

 ……………. is a planning tool for What-if questions. 

24. --------------- dks ^lsYQ daVªksy* Hkh dgrs gSaA 1 

 ……………. is also referred to as 'self control'. 

25. ;wukbVsM us'kal }kjk fdrus lLVsuscy MsoyiesaV xksYl cuk, x, gSa \ 1 

 How many sustainable development goals are given by the United Nations ? 
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26. uohdj.kh; ÅtkZ lzksr dk ,d mnkgj.k fyf[k,A 1 

 Write an example of renewable form of energy. 

27. Identify the subject in the sentence : 1 

 "The boy is playing in the ground." 

uksV %uksV %uksV %uksV %  fuEufyf[kr iz'uksa ¼ 28 ls 30½ esa nksnksnksnks dFku gSa] vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R)] iz'uksa esa uhps fn, x, 

mi;qDr fodYi dk p;u djrs gq, mÙkj nsa % 

 In the following questions (28 to 30) there are two statements : Assertion (A) 

and Reason (R), answer the question by choosing the appropriate option given 

below : 

28. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    %%%% ,aVjizsU;ksjf'ki u, vkSj buksosfVo izksMDV dks cukus dk dk;Z gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R)    %%%% ,d ,aVjizsU;ksj fØ,fVo] vkWxsZukbT+M vkSj fjLd mBk ldus okyk gksuk pkfg,A 

 (a) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha 

gSA 

 (c) vfHkdFku (A) lgh gS] ysfdu dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS] ysfdu dkj.k (R) lgh gSA 
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 Assertion (A) : Entrepreneurship is the act of creating a new and innovative 

product. 

 Reason (R) : An entrepreneur must be creative, organized and risk taker. 

 (a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (c) Assertion (A) is correct, but Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect, but Reason (R) is correct. 

29. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    %%%% MsVk dalksfyMs'ku QaD'ku dbZ odZ'khV ls MsVk ysdj ,d odZ'khV esa dUoVZ djrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R)    %%%% LizsM'khV esa lkWfVZax laHko ugha gSA 

 (a) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha 

gSA 

 (c) vfHkdFku (A) lgh gS] ysfdu dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS] ysfdu dkj.k (R) lgh gSA 
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 Assertion (A) : The data consolidation function takes data from a series of 

worksheet and convert it into single worksheet. 

 Reason (R) : Sorting is not possible in spreadsheet. 

 (a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (c) Assertion (A) is correct, but Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect, but Reason (R) is correct. 

30. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    %%%% ruko vkerkSj ij ,d udkjkRed vuqHko gksrk gS] ysfdu ;g ldkjkRed Hkh gks ldrk 

gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R)    %%%% eksfVos'ku gesa vius y{; dks izkIr djus ds fy, izsfjr djrk gSA 

 (a) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (b) vfHkdFku (A) rFkk dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha 

gSA 

 (c) vfHkdFku (A) lgh gS] ysfdu dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS] ysfdu dkj.k (R) lgh gSA 
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 Assertion (A) : Stress is usually a negative experience, but it can be positive 

also. 

 Reason (R) : Motivation pushes us to achieve our goals. 

 (a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

 (b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (c) Assertion (A) is correct, but Reason (R) is incorrect. 

 (d) Assertion (A) is incorrect, but Reason (R) is correct. 

S 


